@m am HW #5.3
Name: Vl J ' Period: 8-49 through 8-53

8-49. Factor each ponnomial.
N A X —64 b. ¥ -6y+9

{ Ix -8 (x+%) ( ‘j*éf |

¢, du?+dx+1 d 5¢-45 = S(x°- ‘513 |

(Ax41) G (x-3)(X+3)

8-50. Simplify each expression below. Your answer should contain no parentheses and no negative exponents.

2
a (_3 x5y1f3)0 - j l l

(\) b. (25254 = (\ﬁ)’g: > 3( Yy (03
T .‘ z kg}(?) (Ll X"")

3
: X

F3
s oxo
Ry -

d.

K2

8-51. Solve the following systems of equations algebraically. -

2x+y=9
y=-x+4
;?X-'l'(“)( +"15:q [j = ~(s)+Y
x +4=9 o
\J —y Y st

X=5%



8-52. Consider the sequence 4, 8, ..
a. Ifthe sequence is arithmetic write the first 4 terms and an equation for #(»).

£(NH=H N .

£(2)* 3 ] JCCQ - ()
£ - 12
L)<= 1o

b. If the sequence is geometnc wrlte the first 4 terms and an equatlon for ¢(n).

L(H= Y 6(“5 2(33“
t{a) =%

L) = L6
£(4) = 3

8-33. Solve the following equations for x.
a 4x—6y=20
+bj +@j

o
e



weview 2y HW #54

,,,,, E— i
Name: ’/wﬁ' Period: -8-58 through 8-63
U Skip 8-61
8-58. Graph y = x* — 8x + 7 and label its vertex, x-intercepts, and y-intercepts.
. “ \/
— x-ant: (1,0) (7:0)
- 1RV '
\ (j-t\/tf v (0, _:’LB
O 13
} 0
d | -5
279
Y -q
S| -3
| 7S
10

8-59. What is special about the number zero? Think about this as you answer the questions below.
a. Find each sum:
& 0+3=3 =7+0="F 0+6=0 0 +(2)=-2

b. What is special about adding zero? Write a sentence that begins, “When you add zero to a number,

T T4 dees not change i velue of +hat
numb.ey,

c. Julia is thinking of two numbers a and 5. When she adds them together, she gets a sum of b. Does
that tell you anything about either of Julia’s numbers?

T+ tells uys that «=o0,

d. Find each product:

e. What is special about multiplying by zero? Write a sentence that begins, “When you multiply a
number by zero, ...”

N,

), The vesult s always Zevo.



8-60. Based on the tables below, say as much as you can about the x- and y-intercepts of the corresponding

graphs.
a. b.
X y i o y N '
.0 18 (ﬁ-m{—: (O,L‘B\ 310 lj-m’r! (0:'3)
_ 10 8
sl P
L 0 2
6 | 22 810
3 0 _'7 _'1
c.
1Y
0 14| w-at! (1:0)
=511
3 |2 lj—flf\lr‘- (0,-9)
110
13 |27
-6 |14
O
8-62. Solve the following systems of equations using any method. Check your solution if possible.
a. 6x—-2y=10 b. x-3y=1
—2(3x—y=2) y=16—-2x
L Cextay = K- 3(-2x) =1 (j:r(o-;zt“%)
bX -3y =10 X -4 Hox =
- Fx-1%=1
O = Fyg HUb
[ann }x = t{Cl
l V) \(A/\ , e
8-63. The "< ” symbol represents “less than or equal to,” while the “<” symbol represents “less than.”
a. How can you write an expression that states that 5 is greater than 3?
5°>3
b. Write another expression that states that x is less than or equal to 9.
X £ 9
c. Translate the expression —2 <7 into words. Q

-9 s lss than .



——_ P ] HW #55
=B Provien

Name: I/L,U.)y Period: 8-69 through 8-75

8-69. Use a similar process as you did in problems 8-65 and 8-67 to sketch the parabola for y = ¥ +x—6by

¢ “using its intercepts. _
- 2 ] +2)(x ) = 0
lj‘lVH'- (O,‘(ﬂ) -(x 313x | ~b (x 2) >
- e Xt3=0 X270
3K 2 "S- re 42
S S R 5
X < X=73 X=2

-2 ; e
(-3.0) )[2,0)]
8-70. Compare the two equations below.

x+2)x—-D=0and(x+2)+(x—1)=0
a. How are the equations different?

One s & PVOO{UC{" e oflrev s o Suwn,

b. Solve both equations.

Peoduth!  yrazo x-1=0 Sum! (Xt x>0
-2 "2 H 4 X 4] =0
-..—— “’"—.___ L
@ l?—(j . QX:-(

() Q

8-71. For each equation below, solve for x.

a. Bx—9NE—-1)=0 b. (x=7%=0
—gX’cf =0 X~ {=C -+ =0

yq v FLFI +F 47
Zx=9 = T
-3 3 @ X:‘:,L
|X=3

8-72. Examine the system of equations below.
Sx=2y=4




8-73. The (x-intercepts) of the graph of y = 2x* — 16x + 30 are (3, 0) and (5, 0).
a. What is the x-coordinate of the vertex? How do you know?

The Vey+ex 15 the M'LQ Sua‘uﬂﬂf Vbj <o s ,f?{!”"x,w“fj
befween  +lak X-inte CQ’J(S/ So -Hfu? X- coovcligett 15 9/ O

b. Use your answer to part (a) above to find the y-coordinate of the vertex. Then write the vertex as a
point (x, y). _ > _
X =4 j=:2(%5-#0(w5+5o o
[(4,73), 4, -2)
- 016D ~p4+ 30
= 32 ~6LY +30
= -2

8-74. Factor each quadratic below completely.
a. 2% —-2x—4 =7 A(K¢-x-2)

e o g e T T B TR
o impee et

i D -

O

X -3
8-75. Rewrtte the following expressions using fractional exponents.

3 - 3
( S.r) = (3 X) 2
a.

517
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i @ PRAEH g%y m| HW # 56
&a-ﬂ-g”‘&ﬂreviaw

Period: 8-83 through 8-88

Name: [M(Ah/

Skip 8-85

8-83. Use the Zero Product Property to find the roots of the polynomials below.

a. 3x*—-TIx+4

2% [ 3% D=0
~4x >-3% 3yx-Yz6  que x-{=0
L : (33',0\ E(ho) I
b. x*+6x
X (xt6) = O |
Y=o XtG=o0 M'O) ( (“d)l
X =~
. (x+5)(—2x+3)
X+S=0 - X¥3=0

K=-9 X = =
[Cs] [(%,0)]

8-84, Jamie was given the problem, “Find the result when the factors of 65x” + 212x ~ 133 are multiplied
together.” Before she could answer, her sister, Lauren, said, “I know the answer without factoring or
multiplying!” What was Lauren's answer and how did she know?

MUSt e +ie  oviquod

PXHVeSSION hecavee

WUH’!‘P[‘jlwﬁ CL e FC(C’!’W&VLj ave cﬂgPosf}ﬁ fﬂUCfESS«GS.

8-86. Sketch each parabola below with the given
information on the same set of axes.
a. A parabola with x-intercepts (2, 0) and
(7, 0) and y-intercept (0, —8).

b. A parabola with exactly one x-

intercept at (—1, 0) and y-intercept (0, 3).

c. The parabola represented by the
equation y = (x + 5)(x — 1).
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8-87. Review the meanings of the inequality symbols in the box at right. Then
decide if the statements below are true or false. < less than
a. 5<7 4yue = less than or equal to
' > greater than
= greater than or equal to
b 229 Fatse O

c. 0<0 Hvue
d. -5>-10 fyye
e. 16<-16 fplse

£ 1>1 Fafse

8-88. Calculate the value of each expression below using a calculator.
a

RS

104435 =1
5

;

b.
8—!—@ - 5’7 i{;m
O

8+\/W:@



M ma A l HW # 57
. Name: 0 Period: . 8-92 through 2-97
8-92. Lots O’Dough, a wealthy customer, would like to order a variety of parabolas. However, he is feeling
~—ovressed for time and said that he will pay you lots of extra money if you complete his order for him. Of course

you agreed! He sent you sketches of each parabola that he would like to receive. Determine a possible

equation for each parabola so that you can pass this information on to the Manufacturing Department.
: b ,
. ¥

a \ 5 / | \j: (x D D \ _ ‘j: (x-3)°
(:4,0)\‘/{2.o)h‘!C Lj: KAt \/ MJ

/ Lj: (X~ O X-F) ? yz #(x+§j(x—:)
0.0 (?;;) Lj = ).(-2‘7')( (“5,0}/\\{1,(;) ’ H:'(XZ'"'X'P’S'X'g
/ \ Y=-(x*+4x-5)

(0 8-93. Find the slope and y-intercept of the line 6y — 3x = 24.

N +3x +3X R
by= 35+ C owm=4 J
G L © -t Om 4

i

8-94. Examine the graph of y = 2x* + 2x — 1 at right. ¥
a. Estimate the zeros from the graph. 6f
sl
(" l:l‘l’{o\ OW(/{ (ob,lo\) R
b. What happens if you try to use the Zero Product Property to find the pEE N A Y
roots of 2x* + 2x — 1 = 0? !

Z

« TW %U&O{Vahb ’s WO_'L

. X Coctoralble.



8-95. Solve the equations below for x. Check your solutions.
a X+6x-40=0

A P— —_-
~Hox T Tox 140 (Xt (x-1)70
|UX(0 -Hx < x? - x X100 X-4 =0
K T =
[Y=x0] [X=4 |

b. 2x*+13x—24=0
-4gx°
(X MW ~35X

13X\

[3%-3) (x+8)0
AX-3T0 Xt§-0

8-96. Calculate the expressions below. Then compare your answers to problem 8-95. What do you notice?

-] = m
b.

@0 =|-Lo

7.;

C.

~13~ \/122 ~($)(2)(-24) :}M:%

22

8-97. Use any method to solve the systems of equations below.

2% —3y=5
3(4x+y 3) Li(h’fﬂj:g

|QX+3(j 9
2K SU; S "Ll Lj

4x = 1Y




